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GENERAL KNOWLEDGE

QI All of the following are condensation
polymers EXCEPT .|

v/ (A) polyester (B) polypropylene

(C) polyamide (D) polycarbonate

Q2 Indian Institute of Technology, Kanpur,
has set up an office in _ with
alumnus Sanjiv Khosla designated as the
overseas brand ambassador of the
institute.

(A) Dubai (B) London
(C) Singapore @AD) New York

Q3 The Physical Etticiency Test for
recruitment of constable civil police by
Uttar Pradesh Police Recruitment and
Promotion Board requires male
candidatestorun -
v/ (A) 4.8km in25 minutes
(B) 3.8 km in25 minutes
(C) 4.8km in35 minutes
(D) 3.8 kmin 35 minutes

Q4 Who was sworn in as the Governor of
Uttar Pradesh on 22nd July, 2014?
(A) Surya Pratap Shahi
(B) Brijesh Pathak
1C) Ram Naik
(D) Ashutosh Tandon

Q5 Which Uttar Pradesh district is also
known as ‘Pital Nagari’?
(A) Fatehpur
(B) Muzaffarnagar
(C) Mirzapur
D) Moradabad

Q6  Atthe battle of Bahadurpur in 1658, Shah
Jahan’s second son Shah Shuja was
defeated by Shah Jahan's grandson

WAA) Murad Baksh
(B) Sulaiman Shikoh
(C) Alam Shah
(D) Bahadur Shah

SERivo-1
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Ql = viea F=fifed Wi wome
48l & |
VA) diferrees (B) dfefidaieti=

(C) ufelivarge

Q2 Rl Wrenfra wwerms, smyqr, 3
v Pprifera awman &, wret
BT Wolla @Ie & eI 37 R
ave g e faar w2
(A) gug (B) g
(©) RMgT  AD) =pfas

(D) dichigEte

Q3 IR uew gfemt wff vd W=l o
@RI deqd Rifde e &) figfa
A ARD erar wher § qey apafdfit
B e P oewd B 2
V/(A) 25 el § 48 fbamiiey
(B) 25 et # 38 frandfiex
(C) 35 9T % 48 frapfiex
(D) 35 fireY # a8 fareimiex

Q4 22 lTE, 2014 Pl SR YW B ISTUE
& B H A wuer vger o off?
(A) @ gamg =
(B) 997 yiow
WA C) T TS
(D) 9 5

Q5 R Uw & by e aa ) @
A W ST ST 22
(A) BdER
(B) ORI

(C) fawrige
V(D) Rrararg

Q6 1658 ® Ygg ¥, TEE @
QN 92 WE Yol Bl WEWEN D G
A B

V(A TG g
(B) Yoo Ry
(C) @™ e
(D) 98IgY omE

SET-17




L1056d

JOBRIYA.COM

Q7  Firozabad has been producing for

more than 200 years

(A) chikankari works
v/ (B) glass bangles

(C) brass locks

(D) zardoziembroidery

Q8  Which Kathak gharana focuses more on
the spiritual aspects of the dance form?
(A) Jaipur
(B) Banaras

AC) Lucknow
(D) Bareilly

Q9  Accordingto Hindu legend, the divine king
Rama of the Ramayana epic reigned in
Ayodhya, the capital of
(A) Hastinapur
(B) Kuru
(C) Kahnga

o) Kosala

Q10  Which Indian has wen the Nobe! Memorial
Prize in Econormics?
(A) C.V.Raman
v/(B) Amartya Sen
(C) Kailash Satyarthi
(D) Har Gobind Khorana

Q11 What is the title of the autobiography
written by Indian boxer M.C. Mary Kom?
(A) Playingto Win
B Unbreakable
(C) No Holding Back
(D) Imperfec:
Q12 Which film won the Best Popular Film
award at the 65 th National Film Awards?
‘/{A} Baahubali 2: The Conclusion
(B) Secret Superstar
(C) Jolly LLR 2
(D) Hindi Medivm

SERIES-D

Q7 feusndia i 200 aui @ o S wwy @
W1 e fdar Wi e €
BN @bl B
VB w@ra @ gfe
(C) Naod & die
(D) SRERN Bard

{ Av Ttide

Q% BRI FeIE BRI 99 Icw—v‘ﬁ E
sretieTa useail uv aftie e dar 87
(A) SRR
(B) aRd

SC) T

(D) @]

Q9 ey dmifrs desl @
AT 9 W AT YW 3RIRGT & 9RIG
oG e o
(A) BRermye
(B) %o

SITHR, HETRIY

Bl

V[-‘ fw [N

Q10 b wRe 9 aiee 3 Stae s
wifer 37
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Vv(B) amcd W
(O3 e el

VU T
G T

QI w1y yapara R, 48 EFT‘H gRI
eiRacr amcreer & N g1 87
(A) T e faw
V/(B) SITEaT
(C) =i sy dw
(D) SHIEE

YRR #
3w ol fw' | REHTR fﬂq]?
A) aIgddl 22 7 &S

(B) dihe YTReR

(C) Sifell yerwerd) 2

(D) Bl Aifsersy
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I'he 2018 Nobel Prize for Economic
Witiiam D,

Nordhaus and Paul 8 domer, b

>
A

Sciences was awarded 1o
stiv of
whom are from _
¢1A) United States of America
(B) United Kingdom
(CY Canada

‘L Austraila

Ql4 _ _ is the frandulent act
of acquiring private and sensitive
information, such as ciedit card nombers,
nersonal identifization, and aceount
usernames and passwords

(A) Malware

/) Hacking

(B) Trojan
w] I‘-'Ew"-:!i':‘“_

Q15 The Chitrakote Falls are situaied inwhich
state of India?
(A) Jharkhand

VC Chhattisgarh

(B) Uttarakhand

{1} Meghalava

016 Capital city of Venezuelais
(A} Nicosia (B) San
(C) Quito

alvador

Q17 India has the world’s largest reserves of
which of the following radioactive raetals?
{A) Uranium (B) Radium
() Bismith “ﬁj)' Thorium
Q18 Name the only island state of Australia
(A) Capri {B)

V1C) Tasinania {2 Rhodes

Ihiza

019  Which of the tollowing cities is NOT

situated on the banks of the Godavari
river?
(A) Nashik

V(C) Nanded

(3} MNavsan

(13) Nizamabad

SERIES-D

D) Caracas , ;
v S o briya.com

Q13 aeferre fagms & fow af 2018 &I e
R faferm € qidei sl did .
PR Bl faa T e AN
& Fari &1 :
VA TR TN IR
(B) gAgee [Fasw

(C) BT

{12} 3t fera

Qe i el Weede SEER,
S [ BT @S Tur, Afeard ggar
AR i Saaiffredal M el gas
YTy Y] @7 U arelr e 2
(A) Hedar (B) @
(C) & W R

Q15 fmaie Semma vikd & B sy A
Rera 87
(A) FIREVS (B) IRV
) BRINTE (D) HETEY

Q16 AAGTen &) o R
(A) Pt (B) AF—urerer
(C) adrer D) IR

017 wwd 1 FrfalRaa 9 fea fearedt
o] HF favg T ey ar HeR HigE 77
(A) R (B) ¥fegw
(C) farmer v D) iR

Q18 sieferar & yHarE giuia I &1 9aM
qamr |
(A) &4
V0 Somifrn

(B) sfaur
(D) 25w

Q19 frafeRag o 11 @19 W we Me@d
T & R Reag a8l @2
(A) i (B) ¥t
VI0) it (D) fsmmaTe
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Q20 Who became the President of India after
the tenure of Neelam Sanjiva Reddy?
{A) Fakhruddin Ali Ahmed
(B) Varahagiri Venkata Giri
1C) Giani Zail Singh
(D) Mohammad Hidayatullah

Q21 Name Chandragupta’s son, who reigned
between 298-272 BC and extended the
empire throughtout the whole of India.
(A) Harshavardhan
(B) Aniruddha

‘(C) Bindusara
(D) Vasudeva

Q22 The traditional dress worn by the women

of is called Mekhela Chador,
(A) Gujarat (B) Tamil Nadu
(C) Goa VD) Assam

Q23 Rabindra Nath Tagore wrote the National
Anthem of which of the following

countries?
(A) China (B) Myanmar
(C) Bhutan WD) Bangladesh

Q24 Varghese Kurien was named the Chairman
of the National Dairy Development Board
(NDDB), by

{A) Lal Bahadur Shastri
(B) Gulzarilal Nanda

v C)  Indira Gandhi
(D) VVGiri

Q25 How many parts does the Indian
Constitution currently have?
(A) 15 (B) 20
) 25 (D) 30

Q26 The Mughal emperor Jahangir built the
Shalimar Garden in i
(B) Baluchistan

(A) Delhi
(C) Oudh ‘/(D} Kashmir
SERIES-D
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Q20 e wola Y& & dfard & qrg WRa
@ WUy B g9?
(A) BB arel] argng
(B) avefd dwe fird)
C) =1 e g
(D) ewig fRerageas

Q21 Fa W & UF P 49 gan, el
298-272 ¥ 43 @ g wRiA R oy
IR YUl WE F Wy @) g o)
(A) B¥aefs
(B) sifrog
v (C) fagur
(D) gyged

Q22 AWel AIex, g8 198 & ARenai
ERT UgHT S arerl URuRe o B |

(A) oRIT (B) dafer Arg
(C) T V(D) araH

Q23 Rfa=g=trer 2k 9 Fr=forfaa @ fvg
<Y &1 W A forar er?
(A) 4 (B) RIFIR
(C) em v/ (D) aieres

24 TSGRy F gRT o= 2@
faere a1 (T8N, & oreger & wy A
Fraaa far ar o
(A) TITIG8IgR W)

(B) TISIR! |et A=l
) sfe=r mieh

(D) & & R

Q25 i # R wfeE @ fbasy amr 82
(A) 15 (B) 20
V/(C) 25 (D) 30

Q26 HTe ¥HIE SRR iR
arT @1 fAmior faar |
(A) foeel (B) geferar
(C) 3ray V(D) TR
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Q27 Theannual Indian Classical music festival
Sawai Gandharva Bhimsen Mahotsav is

heldin_ @
WA) Pune (B) Mysuru
(C) Kanpur (D) Udaipur

Q28 Which among the following is the oldest
public sector bank in India?
(A) Bank of India
(B) Bank of Baroda
{C) Allahabad Bank
(D) UCO Bank

Q29 Vedic civilisation flourished along the

river i
(A) Godavari (B) Cauvery
(C) Krishna /D) Saraswati

Q30 Which international organisation was
conceived in July 1944 at the United
Nations Bretton Woods Conference?
(A) World Trade Organization
(B) United Nations International

Q27 aifiie W Iy Hid GHRIE Harg
Mod MR weEa  # s
b wimem ® |
VIA) 99T (B) #g®
(C) &Y (D) S<ugR
Q28 fr=fafag & & @9 W ¥ wRa &
HE qRAT AdS 85 B da 8?
(A) ¥ 3ifw R
(B) 9% 3ifp gSieT
VC) AR 46

(D) g#I 4

Q9 dfewm wwar _ Ad @& dC W
famfad g2 |
(A) Merad (B) &l
(C) wm WD) ST

Q30 eird 1944 ¥ YR G T g TR
¥ {51 RIS |6 & dod 3 T
f1?

(A) fa9g =R Hire+
(B) Hga I a1l H1 (JFA5)

Children’s Emergency Fund  jobriya.com (C) f=a 4%

(UNICEF)
(C) World Bank
v (D) International Monetary Fund

Q31 India’s first engine-less speed train, Train-
I8 was developed by the
Intergral Coach Factory.
(A) Chittaranjan (B) Patiala
‘/(C} Chennai (D) Kapurthala

Q32 India signed a $500 million deal with
which country in November 2018 to
locally manufacture two stealth frigates?
(A) The United States of America

v/(B) Russia
(C) Israel
(D) Japan

SERIES-D

wD) iRy a1 diy

Q31 URA & Ugell FoM-ffad €S g+,
2918, oIl @ Bagl gRI

famfma @ S o
(A) RrGH (B) ufaren
V(C) o= (D) FYxIeI

Q32 49 2018 W MIRA A B § AT B RS
500 fAferaT SfeR @ Wid U gwmeR 6y
g, orml g W) @) g1 My
J&—Uidl @1 iy fobar smgar?
(A) HYERT IS SFRIBT
vI(B) &1
(C) gorRIgd
(D) W9
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Q33 The Sardar Vallabhbhai Patel National 033
Police Academy (SVPNPA} is located near

WIRER ACETS U ISIRT Yfr areprar

- : vV (A) 2evarg (B) gor

V1A) Hyderabad  (B) Pune
(C) Bhopal (D) Chandigarh

Q34 The assembly of which Indian staie was 034
dissolved in November 20182
(A) Himachal Pradesh
V(B) Jumiriiiaiid Kashmir
(C) Uttarakhand

(D) Punjab

Q35 The aorta begins at the top of the 033
(A) rightventricle (B) left ventricle
(C} rightatrium J,D) left atrium

Q36 Galvanising means covering steel with a Q36
thin layer of . jobriya.com
(A) Chromium  ¢#B) Zinc
(C) Aluminium (D) Nickel

Q37 €60 is a molecule that consists of 60 carbon Q37

atoms, arrangedas
(A) 15 pentagons and 18 hexagons
(B) 18 pentagons and 15 hexagons
WA(C) 12 pentagons and 20 hexagons

(D) 20 pentagons and 12 hexagons

Q38 The best-quality hard coal that contains Q38
80%1095% carbonis
(A) peat (B) lignite
(C) bituminous D) anthracite

SERIES-D 8

(C) Haa (D) FERTE

(A) RBams w39
B) W&
(C) SRg=
(D) gumg

TEEFF @ TS T e e &
(A) =ifést Brera (B) =37 frem
(C) wifger arferg ) T aifee

TCaTIZOE Pl Hefeld ST B )
d1 qael] R B G JIIR0T G & |
(A) wiffemy WB) S

(C) vgfaffaw (D) Faa

Cooush o & fommf @ @y
i AR 60 ST GRHIT EId § |

(A) 15 TTHST 3R 18 TS

(B) 18 9a49 3R 15 gea

WC) 12 TEYST 3R 20 weyu

(D) 20 9aysl 3R 12 ¥

Al ORI aTen S R 80%
W95% b BT 8, a8 & |
(A) die (B) farige
(©) fgfr D) Yomimge
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Q39

An aeroplane covers a certain distance at
a speed of 250 km/h in 4 hours. To cover
the same distance in 1 hour and 40 minutes,
what should be its speed?
(A) 500 km/h (B) 550km/h

V) 600 km/h (D) 675 km/h

Q39

U® g4I WETSl 250 km/h @t TR 9 4
He g Ff¥ad g qu s 211 6
40 fe % I g @1 Ay & & foy
gaat T @ g anfag?
(A) 500 km/h (B) 550 km/h

C) 600 km/h (D) 675 km/h

Q40 Excluding stoppages, abus covers45km Q40 Ife o & fhl Wl @I ©R 4 &,
in an hour, and including stoppages, it qg 1 ©e 1§ 45 km 79 PR UH 8 3R afy
covers 36 km. For how many minutes does s ) W ¥ @ o 98 1 6T H
the bus stop in an hour? 36 km g & Ul 2| s ©S H 9
(A) 10 (B) 10.8 fas e w@oar 87

v(C) 12 Dy 125 . (A) 10 (B) 10.8
jobriya.comyc) 12 (D) 12.5

Q41" The ratio of the length and breadth of a Q41 fHH amga & ciarg donr AreTE 1 Ui
rectangle is 5: 6 and its area is 6,750 cm?. 5:6 8 AUl gD SAHA 6,750 cm? & |
Find the ratio of the length to the area of IR B FAlg TUT HFBA Bl I
the rectangle. o BN |
(A) 1:80 (B) 1:84 (A) 1:80 (B) 1:84
(C) 1:100 @) 1:90 (C) 1:100 V(D) 1:90

Q42 Find the product of the sum of digits of Q42 11 ¥ g 8 arelt et BIdY 4 3l
the smallest 4-digit number divisible by 11 arell W@ @ 3fapl © AN 3R 13 9
and the sum of the digits of smallest 4- fofora 89 arell |ad B 4 3fdl a1
digit number divisible by 13. AT & ABl B AT Bl UHEA ST
(A) 1 (B) 2 N |

SC) 4 (D) 6 (A) 1 (B) 2
V(C) 4 (D) 6

Q43 The smallest 3-digit number divisible by Q43 13 1 fawifora & arell wast BIdl 331y
13 is divided by 16. Fipd the remainder. e @ 16 ¥ fwfora fean war 2
(A) 4 wB) 5 AUH AT D |
(C) 6 (D) 8 (A) 4 VB 5

(C) 6 (D) 8

Q44 The square root of 6,561 is calculated. This Q44 6,561 & EITfFLFT ] ST HYb 59 G
number is divided by its own square root. BT T+ TS & farwrfora v <mar 2
Find the result. g ST & |
(A) 3 (B) 9 (A) 3 (B) 9
C) 27 D) 81 (C) 27 v D) 81

SERIES-D SET-17
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Q45  The diameter of a circle is doubled. By
how much does the area increase?
(A) 2times ) 4times
(C) 8times (D) 16times

X has a balance of ¥86.54 in the bank

account. What will be the balance after a

deposit of T55.31 and a withdrawal of

84.33 are made?
ViA) 5752

(C) %57.58

Q46

(B) 258.52
(D) T58.58

Q47 A number is multiplied by 3,003 and then
divided by the LCM of 7, 11 and 13 and
then divided by itself. Find the result.
(A) | (B) 2

SO 3 (D) 4

Q48 If (10x +5) : (42x + 8) is the triplicate
ratio for 5 ; 8, find x*.

(A) 1,000 (B) 1331
i) 1.728 (D) 2.197
Q49 Find a quarter of 40% of the square of
40.
(A) 120 (B) 140
VC) 160 (D) 180
Q50  Ifthe selling price is tripled, the profit goes
up to 5 times, Find the profit.
(A) 80% v (B) 100%
(C) 125% (D) 150%
Q51 X buys a scooter for T42,000. He spends

36,000 on repairs and sells the scooter for
¥54,000. What is his gain?

(A) 10% whB) 12.5%

(€) 15% (D) 17.5%,

Q45 &t gt @ @ @ AT fhar
IAHT &FAB BT ag SIer?
(A) 2 7T vB) 4
(C) 8T (D) 16 7

X & g% @rd H T86.54 BT 99 2: T55.31
I 6v 3R ¥84.33 @1 el & arg
qy I @ sEf?
WA) 257.52
(C) %57.58

(B) %58.52
(D) %58.58

Q47 T FTT B 3,003 A YN far wa @ik
SHG &= TH 7, 11 3R 13 B AgaH

g 7= Twfie e mar ok R

Wd ¥ TErEs Shar war| gRurm E g

B |
(A) | (B) 2
V(C) 3 (D) 4

@ﬂaﬁ: (10x +3): (42x +8), 5 : 8 T R
YT @, a1 X HI Y|

(A) 1.000 (B) 1,331

W) 1.728 (D) 2,197

Q49 40 @ T & 40% b1 DTS AT ST @ |

(A) 120 (B) 140
9 160 (D) 180

gfe fael geu &9 1 fan o, o @™

Q50
5 T 81 ST 8| ofTH AT Y |
(A) 80% vIB) 100%
(C) 125% (D) 150%
Q51 X,%42,000 % Ueh ¥hex WA &1 98

HRHERT TR 36,000 @Y HaT & 3fR e}
DI 354,000 7 dUl & | SGBI AP G
&7

(A) 10%
(C) 13%

vI(B) 12.5%
(D) 17.5%.
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Q52 An article costing ¥110 was sold for Q52 110 @I drefll U ae] T104.5 H o
%104.5. How much disgount was offered? T8 | fhad Be @ qure B ag of?
(A) 4% oB) 5% (A) 4% ) 5%

(C) 6% (D) 7% (C) 6% (D) 7%

Q53 A sum of money invested at compound Q53 Tdgly =mer w A fby 0 e A
interest amounts to T1,600 in 2 years and <ifer 2 aui 3 ¥1,600 3R 3 auf F ¥1,680
¥1,680 in 3 years. Find the rate of interest. Bl TS B | &Sl &Y 9 Y |

V(A 3% A 5%
(B) 6% (B) 6%
(€) 5.5% (C) 3.5%
(D) 6.5% (D) 6.5%

Q54 How much will 25,000 invested at Q54 amyly @ret U [afdi 225,000 @) wf3r
compound interest amount to in 1 year at 199 # srgaiffa 4% uf af & v @
4% per annum compounded half yearly? qgay e 81 ameef? @ #)

(A) 325,980 WB) 226,010 (A) 325,980 ¢/ (B) 226,010
(C) 226,100 (D) 226,001 (C) %26,100 (D) 226,001

QS5 A beganabusiness with¥75,000. Bjoins Q55 /A ¥ 275,000 & @ UH BRI %
after sometime with ¥37,500. After how fbar| Bew 419 & 41€ 37,000 d @1
many months did B join if the profits are Su i garm| afy af @ s H 3 1
shared in the ratio of 3 : 1 at the end of & UK H A |ren fhar oar 2, a1 B
the year? : : fba w89 @15 wfia gom o?

MAS 4 (B) 5 jObrlya.Com WA) 4 (B) 5
(C) 6 (D) 7 (C) 6 (D) 7

Q56 The marks of a student were entered as Q56 U& B @ 3P 68 d duild 88 $ WY 3
88 instead of 68. Due to this, the average <ol fbU U 91 | 50 bR HET & g
marks of the class increased by 0.5. What 3% 0.5 ¥ dg Y | HElT H VAT P v
is the number of students in the class? a1 @2
(A) 10 (B) 20 (A) 10 (B) 20
(©) 30 o) 40 (©) 30 AD) 40

Q57 Adistwiceas efficient as B, who is thrice Q57 A, B ¥ i1 &31el 2, 3¢ B, C & fyAn
as efficient as C. If C alone can complete B¥d 8 | A 3rdbel C bl B 30 RAT A
the task in 30 days, then in how many days ORI R Wehdl B, d d Ud A e
can they together complete the task? S @1 ®l e A1 H gur o \ad

A 3 (B) 4 2
©) 5 (D) 6 SA) 3 (B) 4

) 5 (D) 6
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MENTAL ABILITY

Q58 Find the alternative that can be a member
of the given group/class.

Lock, Block, Fasten

(B) Window

(D) Door

(A) Open
wC) Shut

Q59 Find the missing Number:
1,4,27,256,

) 3,125

(€) 720

(B) 625
(D) 2.500

Q60  Find the missing numbers (X and Y) in the
series and find the value of Y+X:
20, 22,24, 26, X, 32,36, Y
(A) 62 (B) 64
(C) 66 V(D) 68

Q61 Find the pair of the numbers that would
fit into the pattern:
11,121, 1331, 146 41,7
V(A) 161 051 (B) 161050
(C) 160051 (D) 160050

Q62 Which of the following series is built on
the same logic as :
GLK,MO

V(A) X,Z.B.D,F (B) X,Y.B,D,E
(C) PS,U,V,W (D) K,L,N,Q,$

Q63 Fill the missing value in this series:
A1C, E4H, I9M, MI6R, _

(A) 125K V/(B) Q25W
(C) M36) (D) Q36X
Q64 Which pair in the options will complete
the following series:
AF K, .U,
A) QY (B) Q.2
(C) RY (D) PZ

SERIES-D

Q58 T4 fAdey &I &I H ol fay v
HE /i BT AR B
qTT, Aeh, HAT gAT

(A) el (B) Rasan
wC) a3 (D) &K
Q59 d« "= I TN
Vo8, 27, 256
./A) 3,125 (B) 625
(C) 720 (D) 2.500

siaget A g "= (X 3R Y) 91
3R Y+X & AF ST &N |
20,22, 24,26, X,32,36,Y
(A) 62 (B) 64
(C) 66 V(D) 68

Q60

Q61 Wil & 98 Wirel T BN ol ded #

Suga &
11,121, 1331, 146 41,2

WA) 161051 (B) 161050
(C) 160051 (D) 160050

Q62 fay v fawedi # ¥ o W @ 31
da =1 e & a9 & 9mE 87

iObriya.Com GLK,MO

V(A) X.Z.B.D.F (B) X,Y,B,D,E
©) P.S,U,V.W (D) K,LN,Q,S

Q63 U HEel H J HA A BY:
A1C, E4H, I9M, M16R,

(A) 125K vIB) Q25w
(C) M36) (D) Q36X

Q64 g+ et # P g Py swen

T QRT EIM?

A F K, 1,

A) QY (B) Q,Z
C©) PY YO R4

SET-17
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Q68
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Four friends live in a locality. A’s house is
to the west of B. B's house is to the south
of C and C’s house is to the east of D. In
which direction is B’s house as to D?
(A) North-East  (B) South-East

(C) North-West 4@) South-West

Y walked 6 m west, turned right and
walked 8 m. What is the shortest distance
he needs to travel to go back to his starting
point?

(A) 6m
(C) 14m

B) 8m
JD) 10m

Village A is to the west of Village B which
is to the south of Village C which is to the
west of Village D. In what direction is
Village A as to Village D?

(A) North-East #f3) South-East

(C) North-West (D) South-West

X walked 15 m south, turned left 15 m
and turned left and walked for 15 m. How
far and in which direction is he from the
starting position?
(A) 15m north
(C) 15m south

vB) 15m

(D) 15m west

In the question one statement is given,
followed by two conclusions- 1 and Il
You have to consider the statement to be
true even if it seems to be at variance from
commonly known facts. You have to
decide which of the given conclusions, if
any, follows from the given statements.

Statement 1 : No country is absolutely
self-dependent these days.

Conclusion I: It is impossible to grow and
produce all that a country needs.
Conclusion [I: Countrymen in general
have become lazy.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Bothl and II follow
) Neither I nor Il follows

SERIES-D
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Q65

Q66

Q67

Q68
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Q69

IR SR T ol H T8 & | A ST B
Ba& ufdgq # 2, Bdl 8) C oo 4
IRCH MDD YI H 2| DA BHT W
foper foem # 7

(A) Sa-—1d (B) afEwr-gd

(C) SerR-uRRad @) gfgror—uf¥em

Y,6mﬁf§ﬂ'ﬂﬁﬂ?[l,i"ﬂfﬂ313ﬂ?m
8 m w1 3 Feam g W amw
W @ o 9w A &R @ wa
BId gt Fr 87
(A) 6m
(C) 14m

(B) 8m
D) 10m
A A, g B& afem # 8, S A C @
s@or A 8, o g D$ uf¥gd # &) e
D & el g A for foem # &2
(A) Se-qd  ¥(B) efm—gd
(C) Sar-uf¥gw (D) &lr—uf¥=m

X, 15 km <féyor # gar, a¢ 7e1 &R 15
m el 3R &Y ST 3R AP 15 m 7el |
g8 oIl Rufd 1 fra e ik fa
faem 3 87

(A) 15m TR oB) 15myd

(C) 15maf@vr (D) 15m uf¥=m

g% U Ho 3R ISP 918 o1 fpy,
13iR 11 Ry 7u €| 3ruel 39 A Bl
A HFEAET BT, el & I8 3H dR W
ST e W eyl Bl &1 | 3uet
T8 oy @A & b Qv v fArepst d |
prar fepd, afy oig 2, Ry 0w
T AT Bl B |

FT | : B S 34 A i e 9
arerfeie T R |

forepy I 991 9 ardl & fawfia s
3NN ITeH BT IE9d B, RFdr a9
B AGHaT Bl B |
ﬁﬁﬁgll:am?ﬁ?wﬁvmﬂﬂmaﬁﬁ
Mol

(A) et sy | AIFERYT AT §
(B) dael fend 11 3FR0T FHeal §
(C) 13K 11 ST TRV PR &

AD) A a1 18R T & 1 IIFHWT FaT &

SET-17
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In the question one statement is given,
followed by two arguments. | and 2. You
have to consider the statement to be true
even if it seems to be at variance from
commonly known facts. You have to

decide which of the given arguments, if

any, supports the given statements.

Statement : Should new big industries be
started in Delhi?

Arguments 1: No., it will add to the city’s
pollution

Arguments 2: Yes, it will provide
employment opportunities.

(A) Only arguments | is strong

(B) Only arguments 2 is strong

(C) Both arguments 1 and 2 are strong

(D) Neither arguments 1 nor 2 is strong

In the question two statements are given,
followed by three conclusions, I, 1l and
II. You have to consider the statement to
be true even if it seems to be at variance
from commonly known facts. You have to
decide which of the given conclusions, if
any, supports the given statements,

jobriya.com

Statement 1: Many business offices are
located in buildings having 2 to 8 floors.

Statement 2 : If a building has more than
3 floors, it has a lift.

Conclusion I: All floors maybe reached by
lifts.

Conclusion II: Only floors above the 3rd
floors have lifts

Conclusion I1I: 7th floors have lifts.

(A) Only conclusion I follows

(B) Only conclusion 11 follows

(C) Only conclusion 111 follows

(D) All3 follow

Which of the words CANNOT be formed
by the letters of the word
“FLAMBOYANT"?

(A) Lamb vB) Bout

(C) Moan (D) Boat

SERIES-D
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Q70

Q71

Q72

U H U6 HUF 3R IS9P 919 @ g, |
AR 2 RY MU & U 30 P Py
W HEAT 81T, 9 & I% & dR e
SIA @Al ¥ e gt BT 811 g
T8 09 Bl 2 6 Ry v gt § 9
PBIT TPB, A BIE X, U 0 Forg Py
ITERYT R B |

asmzzrarfa“@aﬁﬁaua—gﬁﬁum'
fery o anfRe?

q® 1 T, G VB G GGEY H 3ol
&I |

D 2: 8, I8 VIR @ W gEH
T |

(A) Ba G | Ao @

(B) ®aet d 2 Aargd &

VAC) T® | 3R 2 I Horge &

(D) 7 o g 13k 9 8 T 2 #orqm &

Y9 3 &Y BT 3N ISP q1e S sy,
LT3R 11T v 8| amuesy 37 o
B! A AT B, Tl & g o die
W T TeAT | eyl g 8l
3MIP) & T B & ¥ 3y v fyepni
A B Preed, aft 9 & Ry o
HYA BT ATET Fe] & |

FT 10 FY AT Bt 29 8
AT aret 9aHT 4 Reag §

PUF 2: e el waw ¥ 3 A6l & a
e foge 8 2

ﬁ%ﬁl:?ﬁﬂﬂﬁiﬂ\fw%ﬁﬁmq@
ST Wbl B |

Freed 11 : daa I8 Gt & ew
arell Aot § foree &

e 111 7 o st A e &
(A) Bt sy | rqaRer Fvar &
(B) el Frspd 1 3RRer aear &
(C) ®aat Frsf 111 argaeor awar &
(D) T 1T Bea @

“FLAMBOYANT” ¥1&g & 37eR| gRT @9
R W BT TSH TGN AT o wepar 22
(A) Lamb v(B) Bout
(C) Moan (D) Boat
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Q73 Which of the following words has its
letters in an alphabetical order?
(A) Shade (B) Heart
V(C) Billow (D) Charge

Q74 Select the related word from the given
alternatives.
Deer : Fawn :: Horse : ?
(A) Lamb ‘ﬂ?)} Foal
(C) Calf (D) Toad

Q75 Each one of'the following options consists
of pairs of words. Choose the best pair to
match with the pair in the question.

Run : Walk
‘/A) Heavy Rain : Drizzle
(B) Jog: Run
(C) Dive:Swim
(D) Bounce : Gallop

LICISOA

Q76 Select the related letters from the given

alternatives.

EH:VS:MJ:?
(A) OQ (B) NR
(C) QM v(D) NQ

SERIES-D

jobriya.com

Q73 frafafag veei 4 9 59 s & 3R
IS aofrer FHAER 87
(A) Shade (B) Heart
v1{C) Billow (D) Charge

Q74 fey wu R{aedl # ¥ Hdftd e gfg |
f@vur : g1 8T = rer - ?
(A) T UB) B8l
(C) dosr (D) QI

Q75 fafafea fawed § & v 3 sl &
WIS faw Ty &) yee # Ry v Wi @
R Hdl BRA B U et aresT oiteT
gl
HIATHAT : Fer Tl
JA) ¥R aut - gaT 9l
(B) i : e
(C) MR - ARl
(D) 3B : dids

Q76 feu v fAdeul ¥ O Hafda Rt o

T N
EH:VS:MJ:?
(A) OQ (B) NR
(C) QM V(D) NQ
15 SET-17
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Mental Aptitude, IQ & Reasoning Ability

Q77 Which of the following answer figure
patterns can complete the series given in
the question figure?

oy

DY

ol

@1

© (D)
Q78 Which of the following answer figure
patterns can complete the series given in

Q77 fferRea # R @ ¥ S sl
Yoot weet angfa & &) g HEA B Qggr

B bl 87
Lali |
o |# @ B
D 1 @0
(A) &)
N /
©) (D)
® S

Q78 Fiferfaa & 9 &9 < g TP BT
e uea aﬁcpﬁ # Y g sfEe B gu

the question figure? &) Fal B
jobriya.com
D o D <
0O oADO O O ocaAO 0
v v v v
|
w200 g lODDO oy |20 0] @ ODEJ!
I__*_
© |BYO| p |POV © |OVO| g [0OV

Q79 What is the minimum number of lines
required to make the given image?

(A) 12 (B) 15
(©) 14 JO) 13
SERIES-D

Q79 < 8 Bfd M & fory =pTerw e
Gl B TR B?

(A) 12
<) 14

(B) 15
WD) 13
SET-17
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If a mirror is placed on the line MN, then Q80 afe uap guvr &1 WEr MN UR 371 1T §,
which of the answer figures is the right ar diF W I 34]%5% & T \’Rfrg:f?f G
mirror image of the given figure? el vfa 87
= N Q
A = 4 =
5 | (B) W = (B)
© ¥) © (<
A piece of paper is folded and punched as Q81 uq H@ﬁ'{ % = f&t‘.ﬂ'{\' AR TN &
shown below in the question figures. From cHs @ BIcs AR U4 fear mr 81 €
the given answer figures. indicate how it ¢ IR rpfeal A, g a & g4
will app2ar when opeped. Wil 9 R I8 D g Qg
jobriya.com
0% 4nC ° 4b © R T ° dbh ©
4 LN Val AN 4 AN 4 (1Y
(A) N 7l (B) |N (A) |N 7l B) |N v
G e o NP o el - o NI ¢
oodhoo OABD oodhoo °dl‘.\.°
[N 4 [N 4 ‘4 [N 4 & 4
vV ¥ Ny |7 N C) v NI (D) |7 N
° N7 o° o NV o %P o° o YV o

Q82 Arrange the following words as per their

order in an English dictionary and choose
the one that comes first.

refocus; refinery; reflexes; reflector

(A) refocus ) refinery

(C) reflector (D) reflexes

SERIES-D

Q82 f=ferflaa vl @1 U vedy &

HAGAR YW AR 9 TR BT g ol
Ha™ Ugcl YT |

refocus; refinery; reflexes; reflector

(A) refocus W) refinery

(C) reflector (D) reflexes

SET-17
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Q84

Q85

Q86

Q87

Q88
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A series is given, with one word missing,
Choose the correct option from the given
ones that will complete the series.
Terrain, Intuitive, Venture, Rearrange, ?
(B) Virtual

(C) Strategy (D) Suspense

A series is given, with one term missing.
Choose the correct option from the given
onesLl_hat will complete the series.

ZBA. YDC, XFE. WHG, V1J. ?

(A) KLU (B) HIJ

(C) URS D) ULK

A series is given, with one term missing.
Choose the correct option from the given
ones that will complete the series.
EEEEEFFFFF, FEEEEFFFFE,
FFEEEFFFEE, FFFEEFFEEE
FFFFEFEEEE, ?

(B) EFFFFEEEEF
«C) FFFFFEEEEE (D) FFFEFEFEEE

A series is given, with one number missing.
Choose the correct option from the given
ones that will complete the series.
-4.5,-2.6,-0.7,7, 3.1

(A) 14 (B) 1.2
€)1 W) 16

Ifthe 4th day of a month is Sunday, which
of the following would be the 6th day
before the 30th day of that month?

(A) Sunday (B) Tuesday

(C) Saturday WD) Friday

A series is given, with one term missing.
Choose the correct option from the given
ones that will complete the series.
AlZl1, X3C3, E3V4, T9G7, ?

(A) H20R11  #AB) 127R11

(C) 127512 (D) H20S12

SERIES-D

Q83 & Wil A # vH wwm gw ¥ Ry g

v{rA) Gender

fawed 7 9 Sfa R gfg s g
& yof &ear &

Terrain, Intuitive, Venture, Rearrange, ?
(B) Virtual

(C) Strategy (D) Suspense

Q84 < TE AU H B v gwr 2| Ry g

Q85

Q86

jobriya.com®) 1.4

Q87

Q88

faweat 3 @ sfoa Reer gfig o A
P ol FHwar &)

ZBA.YDC, XFE. WHG, VI1J.?

(A) KLU (B) HIJ

(C) URS /D) ULK

1 TE A0 A UF 52 gw 81 Ry Ty
famedl 4 A Sfem T=== g=0 &1 9

&1 gof @war &l |
EEEEEFFFFF, FEEEEFFFFE,
FFEEEFFFEE, FFFEEFFEEE
FFFFEFEEEE, ?

(A) FFFFEEEE (B) EFFFFEEEEF

{C) FFFFFEEEEE (D) FFFEFEFEEE

<1 12 Aot 3 ua wwn @ 8 Ry g
el ¥ @ Sfoa fawen yfag o s
P quf T B |

-4.5,-2.6,-0.7,2 , 3.1

(B) 1.2

JP) 1.6

gfe feell w8m @1 A foq Rar 2
al FrafefRaa § @19 @ 9 o) 489

©) 1

@ did 71 & ugal &1 vol R anm?
(A) Rfaar (B) HIedR
(C) ofyar D) YFHar

U Ao @ 1E 8, Rl va ug @ 2|
g v fawedl 3§ & sfua fawea gaax
Aol Y gof ¥ |

A1Z1, X3C3, E3V4, T9G7,2

(A) H20RI1 4B) 127R1I

(C) 127812 (D) H20812

SET-17
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Q89

Q91

Q92

Q93

Q94

o) 3728

wC) 16

JOBRIYA.COM

In a code language, 8§17 means ‘cotton
makes thread’, 827 means ‘thread makes
cloth” and 213 means ‘soft cotton cloth’,
Find the code for *sofi’.

(A) 3 v(B) 1

(C) 2 (D) 7

In acertain code. SLOB is written as 4379
and FATE is written as 2685. How is
LOFT written in that code?

(A) 7539 (B) 5626

(D) 2091

Ifin a certain code language, ‘+’ represents
‘x’, *-' represents ‘+’, *x " represents ‘ +’
and ‘ + " represents ‘-°. Find out the answer
to the following question.

16 :8x4-2+1=7

(A) 22 (B) 27

(D) 13

IfHOLIDAY is coded as ELIFAXY, then
how will SUM be coded as?

means P is the sister Q and P * Q means P
is the daughter of Q, then which of the
following shows that P is the husband of
S’s sister?

(A) P*Q%R!SWE) P%Q!R*S
CO)P*Q!'R%S(D)P% Q*R!S

SERIES-D

Q89

Q90

Q91

Q92

“C} 3728

) 16

fosdll @ T | 817 @1 31 2 “cotton
makes thread’, 827 &1 22f 8 ‘thread
makes cloth’ 3R 213 &1 312 & “soft
cotton cloth’. *soft’ & foru $c =Id P |

(A) 3 v(B) |
(C) 2 (D) 7

faelt fagiy @ &, SLOB @I 4379 foran
WITdl & 3R FATE &1 2685 feran i
81 39 @ | LOFT &9 forar wig?
(A) 7539 (B) 5626
(D) 2091

fhei fae o wmEr § <+, ¢ ” Bl UG
BT B, ¢, “+° DY IR PRAT B, ‘x
CL0 P YR Yl 8 SR a0, Bl
URId & & | iR v &1 Saw
ST |

16 28x4-2+1=7

(A) 22 (B) 27

(D) 13

afe HOLIDAY @ ELIFAXV & 4 #
Fedg fbar Srem 2, @ SUM &1 8

A) PRJ (B) EHK dedg far s
(C) LOR (D) SVY jobriya-comMA) PRJ (B) EHK
(C) LOR (D) SVY
If A @ B means A is the son of Q93 aft A@B@I 3 & f A, BHT deT &,
B, A # B means A is the brother of B and A#B®I 3 g f& A, BT HIg 8 3R
if A * B means A is the mother of B, then g A*BaaRi e fd A, BaI @i 2, a1
whatdoes X # Y @ Z * W mean, if Z has X#Y@Z*W o aar 3ief 8 afe 2 2
2 sons and one daughter? 92 3R Ua 9 @7
‘/(A} W is the sister of X '{A) W, X @ 989 8
(B) W is the brother of X (B) W, X &1 4Ig &
(C) W is the son of X (C) W,X &1 99 8
(D) W is the daughter of X (D) W, X g4l 8
If P % Q means P is the father of Q, P! Q Q94 P% Qb ¥ef & f6 P, Qa1 faam 8,

P!'Q@r 3t 2 f P,Q @ 95 8 3R
P*Qar aief 8 f5 P, Q@ gl &I
fpaforfaa §f A s sufar 2 A5 P§
g8+ @ ufd 87

(A)P*Q%R!SH) P%QIR*S
(C)P*Q!'R%S(D)P% Q*R!S
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K said to L, “You are my husband’s son-
in-law’s daughter.”” How is L related to
K?

. WA) L is the granddaughter of K

Q96

Qo7

(B) L is the daughter of K
(€) L isthe son-in-law of K
(D) L is the father of K

In the following figure, the square
represents democrats, the triangle
represents architects, the circle represents
Indians and the rectangle represents
fathers. Which letter/set of letters
represents Indians who are democrats?

(&> ;
VAN

(B) BF
JD) CB

(A) E
€ B

Which of the following Venn diagrams
best represents the relationship between
triangles, hexagons and geometrical
fogures?

O
Je>»

jobriya.com

(B)

SERIES-D

20

Q95

Q96

Q97

K+ L9 &8l fb, "gd # ufc & qmrg
@ 9 A "L, K & fra v wefa 87
) L K& = 2

(B) L,K & g3l 8

(C) L,K &I a™IE =

(D) L, K &1 faem 2

FraforRaa amgfa #, @i dadzarfea
@1 qutar 8 Bl RrogarRt & gufar
2, g WRAE! Bl eIl & 3R Sadidr
foameil @1 Wiar &1 JeRl BT D A
e / PI AT &R I IR B i
g ol dracEard) 87

(A) E
(C) B

(B) BF
V(D) CB

fereferftaa § 0 9 w1 99 o fraeron,
Ye@HIvT R SR il @ 4 @
Hay b FaU AT T 8°

@
» QD

(B)
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Q98 A lady participated a six-month
programme to lose weight. She weighed
100 kg before starting the programme.The
line graph shows her weight in kg at the
end of each month. In how many months
did she gain weight instead of losing as
compared to the previous month?

100
-t [ e SRCL
£
2
10
'] T T T T T 1
1 2 3 4 5 B
End of month
d
(A) 1
(B) 3
WC) 2
(D) 4

Q99 The bar graph shows the number of
visitors to a museum for different days of
the week. The number of visitors on
Saturday was less than the number of
visitors on Thursday by %.

Humber of lootfalls

38888

(A) 300
(B) 200
) 60
(D) 50

SERIES-D

21

Q98 T HiRET 7 Iu HH P B AT BE

Q99

T8 @ v grgm § AT forar &) wam
g% P § UBS SADT a9 100 kg o1 |
3T ARG YD HEW B 30 H kg A
Ia aor @1 e 21 sd #8H @
gorer ¥ fhes wEEl § SHaT a9 B
B P qod 98T 57

140

!W

78 82 7

foean 3 T
aaNEssndas

R
W EEd

(A) 1
(B) 3

vIO) 2

(D) 4

I IR gdE @ A= & A @
Hugrad ¥ ANTgd! P e of fewmr

Number of lootfalis
SHEEEEEE

(A) 300
(B) 200

SAC) 60

(D) 50

SET-17
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Q100 Item A takes 12 hours and Item B takes
15 hours to be prepared using a lathe

machine.

Drilling time for Item A is less than the
drilling time for Item B by

JOBRIYA.COM

Q100 TRTE 7N HT IYANT b AZEH A
IR BF # 12 " okl ® 3K argen

B 15 €S ol 21

%
wHT A

@ 7%
Drilling
25%

Item A

Finishirg|

Turning
41%

ged A forg o aran f3fe
WA 3mged B & forw oM are fafei

% W THH HI

Item B Item A

Finishing) Turning
0% | 20%

]
Milling fprilling
27% | a3y,

(A)
©)

Q101 Which word does NOT belong with the

25
39.39

others?
(A) Run
(C) Jog

Q102 Find the odd letters from the given

V(B) Sleep

Item B

Finishing| Turning
20% | 20%

Milling [ prilling
27% 3%

¥B) 66.67

(D) 100

(A) 25
(C) 39.39

(C) ST
(D) Walk

VIB) 66.67
(D) 100

Q101 B AT & 3= & § AT 27
(A) qre

v(B) W
(D) Tl

Q102 foy 7y fedi # & fAvs 3R g+ |

alfernatives. WA) LKM (B) EDC

vA) LKM (B) EDC (C) IHG (D) SRQ

(C) HG (D) SRQ

Q103 Choose the figure which is different from Q103 9% ;m—(pﬁ‘[ @t EF] S 97 Gﬂ‘m 9q

the rest. T B
eoe| [oee] seoeo| [0pee

@ |© © O |O O Q| Jobriyacomip 5 ¢ . |0 © ©
SHONS! O e o 806 D 6 @1
ONSEO) ONONS) (OSSR ONONS]
© 0 0 ONONS

5 SRR ONONS)

©lIsea® loo e (C)G)e@!d)eee
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Q104 Choose the figure which is different from Q104 I P B g1 Sl 9rabl il &
the rest. AT B |

HQY HQY
A) N | X A) N I X
0S8 Z 08 Z
XQy XQYy
® |Z S H @ |Z SH
N O | N O I
XTZ XT2Z
NQS N QS

V() )
HY O o HYO

jobriya.com

QS X QS X
o [YON o |YON
| HZ | HZ

Q105 Select the related word from the given
alternatives.
Gun : Bullets :: Torch : ?
(A) Fire
v(B) “Batteries
(C) Darkness
(D) Candle

Q106 Select the related number from the given
alternatives.
125.3:5:: 146414 :7
fA) 11
(B) 6
<€) 4
(D) 14

SERIES-D

Q105 fav v fAweui © Gdftd weg &1 999
e |
g ¢ el = e ?
(A) AT
B) dcd
(C) 3UBR
(D) HrHaE

Q106 fay 7y fadmedt & Wt Hel g7
125.3:5:: 146414 :7
“A) 11
(B) 6
(C) 4
(D) 14
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Q107 From the given answer figures, select the Q107 & T Jar AHAAT H W, IH (@ @
one in which the question figure is hidden/ W HY forr oo iy Ffka &
embedded.
(A) 5
[ 1] R
(B) |
(B) N T
<
¢
@ ; <
V() | )
! jobriya.com
’ \
. (D)
(D)

Q108 Which answer figure will complete the Q108 B & Ik Gy yeH anfy # Yo

pattern in the question figure? BT QT HA?

"
(A) 0 (B) (A) 0 (B)
(©) (W () @
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Q109 Which of the following answer figure
patterns can be combined to make the
question figure?

—q L e

w P EHH
® B
o FE Bt
s B g

Q110 Which of the following cubes in the answer
figure CANNOT be made on the basis of
the unfolded cube in the question figure?

¢
B [ohH
J
A
A 21° O] @ ‘:3
)_?- ..-a

(D) O

w0 | O

Q109 fF=falad # 31 o1 0 SR smefa @
e &l 9e sipld a1 & fag Sl
ST e 27

(A) Ej ﬁjl :-lr::’;q
® B H dh
©) r_g ﬁj 1:4 H

|

V‘D} CH:JEEBBTL’:

Q110 Sk 3nepfa A fobwr w1 bl ygst anpfa 4
Bl §Y O @ SRR W A g7 ST

Tl 87
v:
=Kifslas
e
£
@ 2121O] @) ‘1{?
)_‘?_ ./c.-r
o | O Mo OJ-

jobriya.com

Read the following information to
answer the given (Q111 to Q113)
questions.

Following are the conditions for becoming
a judge in a singing contest TV show.

A) The person should have won at least
one award in singing or music.

B) The person should have worked in the
music industry for at least 10 years. C)
The person should be able to speak at least
3 languages.

SERIES-D

fag M (Q111 A Q113) TFl & IaR
2 3 fay F=kifaa S9er 9ty

= @ ufenfar & & @) o &1 9w

g oq frafafea wd &)

A) @ A A ar Jafy § wE A B

U YIIHR Al 8l |

B) afda = wifla @ &= § &7 3 &4

10 9§ a% S B E

C) =fks &1 &1 U dn 3 g 3

&il '
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D) The person should be willing to
donate at least 10% of his/her annual
income to the contest winner.

E) The personshould NOT be younger
than 35 years and neither be older than
70 years.

However, in case candidate who fulfils all
other criteria EXCEPT-

1) B above: if the person does NOT fulfil
this criteria then his application will be
kept on hold.

2) D above; if the person has donated 50%
of his annual income any one time in his/
her life then he is exempted from this
condition.

3) E above; if the person does NOT full
fill this criteria but fulfils all other criteria
then his application will be kept on hold.

Based on these criteria and informatien
provided below, decide the course of
action in each case. You are NOT to
assume anything.

Person A is 40 years old and is willing to
donate 10% of his annual income to the
contest winner. He has won 3 awards in
his 15 years of experience in the music
industry and can speak in Hindi and

- English only.

(A) Made a judge

(B) NOT made a judge

(C) Application kept on hold
(D) Data inadequate

Person B is willing to donate 5% of his
annual income to the contest winner. He
has worked in the music industry for 30
years since he entered it in his teenage
days. He can speak in Hindi, English,
Tamil and his mother tongue. He had
donated %7 lakh for flood relief in 2016
when his annual income was ¥12 lakh.
(A) Made a judge

(B) NOT made a judge

(C) Application kept on hold

(D) Data inadequate

Person C has won 5 awards in her 25 years
of experience in the music industry. She
had donated her entire annual income in
2017 for earthquake relief. She is fluent
in English, French and Hindi.

(A) Made a judge

(B) NOT made a judge

(C) Application kept on hold

(D) Data inadequate
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Q112

Q13

D} ik @1 3 qiftsd s &1 &
1 FH 10% gfRafier & fAser @ 3

a> foic ?rmv 81 aifey |

E) uAIéza cr- ¥ 35 a4 ¥ &4 3R 70

¥ ¥ e w80 8

sw*rb SHB! lé.\m—l Hf?' Ble IRNTAN

= @i JrFESt @l a?e"ﬂ =
1) B SWRaw: 4% &fde g9 AMGs] @

gl e prar § m’cﬁ HAGT B
GEITEE] |C1-K Q—{lf ST

2\ D ST afe aafd 7 g9 Siigaard
H UEh g f A s A BT 50%
ﬂﬂifﬁi‘:fﬁ:ﬁ*{gﬂmﬁﬁ@gé‘r

AT |

3)E \auﬂaﬂ efc. A g7 g 3 guf
T el & uNd 3w eidr @ gl
FWE & @1 o9, 3TEA AR & fou
T ST |

A fau 77 591
AR U Yeld ATS
ARG CR AT
e |

@fd A, 40“ T &, 98 sfaafar &
fsTer b1 39+ mucp 3T P 10% &1
AT ATE] 3 I g I 1?1
3 15 a8t & 3 wd W 3 qWHR NG|
g ol daa R %M el
bl

(A) ST9 G T §Y

(B) WSl 5 17 S

(C) 31‘?1?:{ W faaR QM Sl
(D) ITHs AT §

@fya B Qe FRyaiar & foar o el
qififes ama @1 5% & Tl B TP
¥ | TR 10 penTaRe 3 G SehT
# oy @A @ 418 W e 30 98T d
@A fpar 8| a8 &, afireh, et 3
S AT A1 @R ahd 8 | a9
2016 % S8iF ¥l VEd @ forg T7 A
g fau 9, wid 99 9 3ma Z12
AT 2|

(A) SISl §9RI7 WY

(B) olul =1 g«rn oy

(©) aaaa*f R fdgr fdar @

(D) 3ifps amalc &

rfd C 7 |t ey # 39 25 a6l &
argra W 5 qwaR g # | S gy
wiEa @ fae w2017 3 aifsta el
qiffes g &7 @ off ) 98 S,
affz &) ¥ s de wadht 7
(A) SISl G917 Gl

(B) GioT = d+iar Gy

(C) g R faar fear o

(D) 3ifeps arqaie §

SET-17




LICISO

JOBRIYA.COM

HINDI

Q114 Fymfafas g, ar feedl 4 ¢ fov
AT Y W R WY aiel R
yEalfT |
HGiE

(A) wra Ryl o1 wig
(B) Wi i 174 3T @l i
(C) wma Rreall &1 |yR

V(D) Tma ;Irc;qf &t THE

Q115 fFwifarfRaer v 4, w1 Qe for
ol @ v ey &1 949 w7 77 v
MV ¥[eg / AT B UG v UE v
fawea 81
JYBR BT AFA a1l
Via) Fas (B) &
(C) TRITHN (D) eyl

Q116 Fwifafaa wea #, o fawea Ay 71U 8
i § e e Ry Wy srwell o

w1 ThH aret B9y ez 3 g |

VA) ST (B) drdl
(CYy dget (D) BT

Q117 Pfefya vea # ar Raal 9 9,
Waifed ue & sfad ere o g |
CIC I CIE I
(A) TR SRS WB) JRTERL HRH
(C) W dRa (D) #H Hd

Q118 fFmfifad e # aR fawedi § 9,

forar &1 98 WU arar faeey gEatia |
Wd aq ik e |

(smT GG R I il (ru

) & 3 jobriya.com

y?B} H ammo

(C) # am & 7id

(DY H o & gl T8
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0121 Fwiferfaa ge #

QI

WS gfedi

0110 Pp=rfeBag w99 §, argy B H3AAT &

1 D W TqAR |

da dlam F A gy
AA) T fasar

(B) @i fshan

(C) e

(D) HuE fam
o Prafufaa we 3 ar Bewl § 9, o
Fpeg o wo oY ot Ry v eeg &1

'r"r e aren fawaa g

(B) 419
(D) &R

gR fadmedt 4 9, Ay
¢ gies &1 WAl gfeelT w9 arer fadwey
E
BRI
(A) {ER)
(C) @inlE

W) grRe
(D) g

2 19 fay 1y s @1 wEl dgded %
it fadeq uswfav |
gfear

(B) gfear

(C) gfean (D) afear

Q123 fa=ferfas g #, o) fadedl 4 8§, 99

Raea @ gfg ot @@ pf st
auf-faesq arer ¥
FHYuT
(A) &8 + 9 + U
(B) & + 3 4 U + AT + 1T
) o4 bR S A+TLT
AP T T4 G4 A+ T+
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V/(A) UgH! A

Q127 3™ & BT Al A
v

VIA) dSaRers
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Q124 P ar fAwedl 3§ W gg N e

gl gaari |
(B) &

(C) Ppuvl (D) g5R01

Q125 Fr=ifefae gw 3, ar @l d 4, 94

R@e @I T &Y off fay 7q ag d
Qgur Teg @) RAYEa ydHe HRAT B |
39 yddurar # 480 Ha-d UBlS B

(A) 'Y Y1) ded
(C) Ha-3d (D) 8IS

0126 PaferRaa 9o 3, an el 4 4 99

fa@eg @1 =T7 B Sl
Ry Ty agg B wA AHeT 2
HadM BT wnfesds 3ef aAr B 87
(B) gu’i @1 A
(C) o A/ (D) wde & 91
A AR e o
aRi R g e BT
ViA) dfei g
(B) dfz @I & <@
(C) Y-8 Wik gl
(D) ¢ wfRaR & digd as

Q128 FrafaRaa ger W, ar fwedl # 4, 39

T8 fidwcy &1 Fa« Y ol gadrar & -
gedRor W fre s @ e &2
(B) @edul

(C) arcifes (D) &Y T

Q129 fr=faifaa ue ¥, ar el 4 4, 39

) e @1 99 &Y ol gard & fh—
wedred YHIeT SUYRT & TGS F AN
1 87

¢/ (A) TR aRead

(B) aRfdEy =y
(C) wayfa
(D) g4 @
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Q130 =8 wifewy armref @1 2l & 8¢ ad

gelehl |RTA GRIGI s a3 7 &
ST &7

(A) WIS HEEIC

(B) Mdde

(C) T

V) B @1 98 {3 gaiv &9 3 (&g

I Ry T TEEiw @ @ Q13 W/
Q135) wei Ry M &1 390 TWY B
egd® g 3R TR fwedt § @ udD
Y @I wafeH S g |

e @ Gwpha # guivold darei uRas
&1 WA 3R T B gAIE AT g
A A9 ybsrR @& onl R gaw MAad
gquf) e 3R eaed | 9af 98 134
& 81l & d fed 2k eaed Yol aed
£ ford qaEl gro oaen & adga @
oieft off | feg ARt @ ga &1 aifas
aref 31y arza afde @ iR gha s
21 ga® A @ AIgi il ] Siaid g
SITUR: S R G AR R
78 qIEdd H gwAr @3+ did @l
s wirer v ik amar &1 18 4
N B SV AR 19 df GG & U™
3 arey B AENTE—ARPTaD SR 3D
AeYe 3 ggona | ohad & fafye
&t # g argl @1 Fufr alik gww
e o, forad @ 9 v oe wifdd
| R derare N gab @ e B
T I1 U I U elfde & geawrel @
fare | gy arfaRad dim va uReR are=
o | g, febmraa Y WiorgR @) A
g gas 1 3ifdrd e A 41H dom us |
i aperga W SiR asT are 8, S
41 @ forg arfde orre &1 E el ar 4
B8 TRG NS B AR 96 AHA ¢ |
& I g1 diT 3R ga] B 418 o TS
F Bt &1 ohf) O g9 dRT wad v
AP H de-—fawg B F OIS D
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i w1 o s far A 81 gRIA
ATl @ <N UR A% Al o8 ST 8 |
Y9 @ e aem @ fay e
Jyad o IRT 3 St i & SR dieret &
4l & guw 4 Wid €|

Q131 umifas anfefe agerdr A fowr aee @i
1 ymfaa far?
(A) @S arEdl &1 gAnT 84 o -
(B) Gt &1 WM €
W) § aiEHl B FERT B O
(D) 4§l B WA B T

Q132 €Il & U ®1 fby B H woaT Wi
8¢
VA) wrefiqiar gad ae
(B) @etamnl gax a¥
(C) gAIg dret A%
(D) BT I

Q133 = fxu wu # gad W e ded 87
W) a1 IR gl argd
(B) T 3R gobT 18+
(C) Bl AR &ehl
(D) ®¥er i W e

L1ASO!

Q134 uRaes & W T AT B gy
feparr Sman 27
VA) i yfersr
(B) niRaiR® &1 weH
(©) anf¥fs Refa
(D) Hel Araeddl

Q135 i ol gad @ fem yaR 87

(A) TR (B) =I
v GG (D) dra

CEDIDC N

Q136 fFmfafird ued ¥, ar fadbeni § 4, 34
il me @t T B ofl Ry ¢ ue b
Sferd sreldR we BT Ga¥r el Aaey
gl
vguf ga UH7 R
JP) FT HABR
(B) W® IHR
(C) wush FABR
(D) SHUT APV

Q137 fr=farRaa wea W, ar fAaaai 4§ 4, o9
T8 Reey @1 gus w3 ol vyifhd g
P e @Y B A Bl
AT & M W WS § |
(A) b fageor s
V(B) W G 3y
(C) Wwgd e Y
(D) fawmrfeas iaay

Q138 Frifeiflaa yeet & or Aol 4 4, 99
adl faded @1 TR R W AYE i D
& U @ A4 BT AP B |
gHAT JdE o1 8 |

jobriya.com (A) % i@l & dg

(C) gae 31 8 YAl
/D) GIE T T &

ﬁﬁﬂf‘c‘dﬁ‘ﬂﬁ ue 4 gR e | 9, 89
8 RFey o 9g+ &9 ol qamar 8 f&

47 ey 10 ®e & ude 9o | faa
Hea e TG 8, afcrerd 39 au &
g wigyfi! @ ww &, W —aki wde
Eoll

(A) 15 9 13 & &4 9§ 28 -

(B) Ugel 3R dRR # 12

(C) dd a1 H 24

(D) Ydd ool § 24 misprint 7643001
2

8
(B) i aE & @l
3

LA A
Zeid[=]
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Q140 FferfRad wem 4, ar ﬁ?r:—n‘* N TE Ql46 PR g -"*;'. R e & = -
ey &1 ga7 &Y o ol fay 1y g Ty vl @ TG e are faweg g
BT |El 3l grar fdwed 2 | el
3P (A) uwnS W) Freal
(A) N g (B) et emm (©) furg (D) IR

(C) agel SIFr ¢ AD) 4ed g
0147 Fr=ifefiag v 7 ar fecdl 3§ Q. 99

Q141 Fr=faRag gv9 ¥, ar [ewi § O, 99 ) famer o 58 &Y 1y § gE R
el fagred @1 99a ¥ Sl gardr 8 - (A) Za (B) 13T
v S fan few Wi & wg 87 (C) T )
(A) TR (B) v+
W IR (D) 3Hga Q4g Brerfafaa we = == Sovedt # 9, o9
fddey & 7= =7 71 w9 df-fawg
Q142 FmferRed e #, aR fawed # 9, 9w arelr Rew 2
el fdweq o 9g+ Bl ia-’bﬂ'{;z:u aren e
g sRadd aren wdl e § (A) 3 + e V"B} I + O
foan S o3 Ug WE ¥ (FHare) (€) & + 3™z (D) o + 3D
(A) T3 fem o gawr Ty sy
(B) far &t = o9 ygl Q149 Fratadiag
- (C) faar off 57 v ugr an ver B \ | @ 9y ﬁw Fl TIq Eb—Q \—rf] fou
EU% (D) fiar st 3 e w 2 A v et HEE Sl e giug
~
Q143 s fasd o Al Fara) &'\ W gv AT
A) sl el iy sig-ags 2 (A} @ & 7% (B) fraw
(B) &1, A, Wi wefaat @ . @) aE-get (D) TR

(C) e 4 Fw1 — HI uelg avrll B
(D) ¥ g o %@ § 0150 FwifaRad we ¥, ar fwed: § 9, 99
fawes &1 wuq & S Ry Y wem &

Q144 frafeiRaa uea o, ur [qaenl 4 4, 9w afl qui el 9T v 2
faepey & ga & W) Qv 1 v @ afaui
WE YHIA 3R] g a8 | V"A) P (B) geIreey
GelRA (C) fazga (D) BFER
WAGSIIL I By R
(C) rax (D) Fisky

Qi45 fFfeifeg v 4 an oo § 9 9w
foe &1 9a9 3 91 IRbT & 991 IS
A8 81 .
o ) Jobriya.com
(A) oI (B) $uH
(C) st D) @ .
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